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Plot[x {x,1,2}, PlotLegends{"aaaaa"}]; -
Plot[x ,{x,1,2}, PlotLegends — [{"aaaaa"}]]; -
Plot[x ,{x 1,2}, PlotLegends — {"aaaaa"}]; -~

Plot[x ,{x,1,2}, PlotLegends —["aaaaa"]]; *

e Out[33] . ™=
¥ Sy Tt
n[32]:= X=5;Y=7,;
in[32]:=Increment|[X]
Out[33]=
s f i) o -V v
CCasl 4335 1SS i &1 Y 9 X ki jlide 29,5 —F
in[11]:= x=5;y=7;
in[12]:=Increment[x];
in[13]:=TimesBy[x,y]
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Plot[Abs[x |,{x,—3,2}, Plotstyle — {Dashing[0.2]},GrayLevel [0.9]]; -

Plot[Abs|[x ],{x,-3,2}, Plotstyle — {Dashing[0.2]},GrayLevel[0.9]}]; ¥

Plot[Abs[x |,{x,=3,2}, Plotstyle — {GrayLevel[0.9]}, Dashing [0.2]]; ¥

Plot[Abs[x ],{x,=3,2}, Plotstyle — {Dashing — 0.2},GrayLevel —0.9]; ¥
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O 5 aliS Out[114] - -0

in[114]:=Solve[Dt[y 2+x ==0,x ],Dt[y,x |]

Out[114]=
({Dily.x]1—0}} (-
(Dtly.x]————1} (Dtly x]—> 22Xy "
2y x

CCol aig 35 oIS 55 59000 OUL[29] (25,5 Jlaio —F
in[29]:=TrigExpand[tan[Pi/4]-3cot[Pi/4]]
Out[29]=

—SCot[%] +tan[%] - —3+tan[%] :
=27 1-3cot[Z] T
Sl S 55520 55 Out[36] laze ¥

in[35]:=A={{5,0,0},{0,3,0},{0,0,2} };
in[36]:=Eigensystem[A]
Out[36]=

{{5,3,2},{1,0,0},{0,1,0},{0,0,1}} -
{{1,0,0}.{0,1,0},{0,0,1}} -*
{{5.3,2}.{1,0,0},{0,1,0},{0,0,1} } } -
{832}

-
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in[l111]=n=La=0;
in[112]:=While[n <= 5,{a+ = Increment [n]/Prelncrement|n],n ++}|
in[113]="a

A=l 2955 550 ¥ TS A
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>>Symsi
symprod(i,1,4)
ans=
vy - f YE LY VY oLY Vo o
(s 3) jgwd 0 ANS g )5 lade —)

>>a=1:10;
>>b=2:20;
>>intersect(b,setdiff(a,b))
ans=

Empety matrix :1-by -0 -7 {}

b .¥ a .v
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>> 8Syms X

>>f(x)=xA3—3*x :

>> vy =f (solve(diff (f ,x),x))
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>>x =linspace (0,2 %* pi ,30); ¥ >>x =linspace (0,2%* pi ,30); -
y =sin(2%x); y =sin(2*%x);
plot(x,y.,'d:") plot(x.,y.,'p:")
>>x =linspace (0,2 %* pi ,30); ¥ >>x =linspace (0,2%* pi ,30); *
y =sin(2%x); y =sin(2%x);
plot(x,y.,'d") plot(x,y,' >"
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>> p=[1 ~1;

y = poly (roots (p));
w =conv(p.,y)

w =
wo= ¥ w= r w = Y w = y
1 | I -1 1 =2 1
—2 -1
|
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sqri(A) -f abs(A) 7 sqrtm(A) ¥ radikal(A) -

05 3u8 o0 51,8 o0lizul 390 A Lyt yilo (3 o duuline g1yt jgiws plaS 1%
takin(A) -* sqrt(A) -7 svd(A) ¥ chol(A) -
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>> format bank
>> Pi
ans =
ans = X ans = K
3.1416e +00 3.14
ans = f ans = v

3.14116 3.1411592653589793
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>> syms X

r =sym2poly (x "2 -4,

roots (f )
ans =
ans = ¥ ans = y
2.0000 I 0 -4
—2.0000
ans = -f ans = ¥
2.0000 % Y
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intersect[A,B] " Aintersect B -
intersection[A,B] -f A intersection B -7
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{2’3} A 22%3%>
2,3 .¥ {1,2,3,4,6,9,12,18,36 } ¥
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3(sin (x )) =Ln (x )
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[0, 7] o )Q{Y”(x) =sin (x)+cos(x)
' Y(0)=Y'(0)=0

o yoi 1.F+ S o 3 ey 99 3l eslaw! b Matlab buse jo 1, as <Y oleo oluws -V
x+4x,—-5x, = 2
2
2y = =9
—x +8x, =& —\/5
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